Math 1210: Quiz #5 Fall 2017

Section: \—k

Name: S@h,dl\ 7a%) A+#:

(8] 1. Let f be a function with graph y = f(x) given below. Let g = f~! be its inverse function.
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Fill in the following.
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(4] 2. Compute the derivative. Do not simplify.

3.4 (sin“l(t2) + sec(et) + tan~'(e) + In(£* — 2))
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(8] 4. Consider the curve given by zy? = 5+ x? 4+ y. Find the equation of the tangeht line given
to the curve at the point (3, -2).

Ir’{) '{' X p{)

) , |
4F4 %2 2gdg =0+ AT %

3 (2rg -) =

o c_“

) g
O 7 Tpng -
M (3,-2) the Slope 1S: mz};i);?-gf\) :;%b—_;
ﬂ/»& éfiwﬁ‘m ob J,c\rdaa,‘ + Qa\/\ﬁ e
grz = =5 (45
J ~-"—,%)L t -:3_"_2_
20

2 U
=BT



